(FARIEGL)

IBGL (TEvy| KFEA = EFL 24 | [% | YDS [LONG | SAF
1 B L E I 49 [FEK K& 2 8 63 1" 0
2 B I 44 |EBiE R 3 5 40 13 0
3 B BFEX 98 (B K& 3 4 21 1" 0
4 B I 99 |AKRH Rt 4 3 20 1 0
4 B HAX 99 |FH IR 3 3 16 8 0
6 B HiEX 9 |/ 3 2.5 21 11 0
1 B E+EE 46 (JIlIB w/ AN 1 2 21 17 0
1 B EgiZE X 58 (M K—H 4 2 15 9 0
1 B EmiZE X 5 (R = 3 2 15 9 0
1 B EEI 88 |F4&F W 2 2 14 1 0
1 B Edfing ] 96 |fik Eth 1 2 13 12 0
1 B BiEX 57 |[/h#k 15 3 2 13 1 0
1 B E+EE 71 (L REF 3 2 10 1 0
1 B EmiZE K 91 |/\iff Fth 4 2 10 5 0
7 B EEIN 21 ("o 507 B 2 2 9 7 0
1 B BEX 2 |RE BEA 2 2 8 6 0

17 B BiEX 99 (K# #E 2 1.5 8 6 0
18 B L E T 17 (WX Hx 3 1 17 17 0
18 B BiEX 92 [BX R 1 1 17 17 0
18 B BFEX 95 |&H ABR 2 1 16 16 0
18 B BEX 5 51 B 4 1 15 15 0
18 B E+EE 99 |BHE Iy 4 1 15 15 0
18 B BAX 96 |EH AR 2 1 1 1 0
18 B L E T 44 |fRIZ FRA 3 1 10 10 0
18 B L E T 90 |EX EFE 3 1 10 10 0
18 B BAX 53 [/MEW & 3 1 9 9 0
18 B BiEX 59 (B ER 1 1 9 9 0
18 B BEX 98 (I\& EE 3 1 8 8 0
18 B BAX 91 |ENl ZHRAN 4 1 1 1 0
18 B BFEX 58 |2H 5EiE 4 1 1 1 0
18 B BAX 93 (R EX 3 1 1 1 0
18 B BEX 54 (BH &% 3 1 1 1 0
18 B I 13 |+ BWA 3 1 1 1 0
18 B BAX 55 (KR &% 2 1 1 1 0
18 B BFEX 6 |&#EB XA 1 1 1 1 0
18 B BEX 44 |KTF & 4 1 6 6 0
18 B BiEX 93 (Al ER 4 1 6 6 0
18 B L E I 94 |EE RBER 2 1 4 4 0
18 B BARX 54 (it fEX 4 1 3 3 0
18 B EmiZE K 96 (&EH X 3 1 3 3 0
18 B E+EE 26 (/A & 1 1 3 3 0
18 B BEX 95 |#HHE EE 4 1 2 2 0




